

Simultaneous Approximation by Modified Bernstein-Durrmeyer Operators *

DING Chun-mei¹, XIONG Jing-yi²

(1. Dept. of Math., Shaoxing College of Arts and Science, Zhejiang 312000, China;

2. Dept. of Inform. & Math. Sci., China Institute of Metrology, Hangzhou 310034, China)

Abstract: The aim of the present paper is to prove direct and converse results for simultaneous approximation by modified Bernstein-Durrmeyer operators. A point-wise equivalence characterization of simultaneous approximation is obtained.

Key words: Modified Bernstein-Durrmeyer operators; simultaneous approximation; direct theorem; converse theorem.

Classification: AMS(2000) 41A25/CLC number: O174.41

Document code: A **Article ID:** 1000-341X(2003)04-0609-06

1. Introduction

Let $P_{n,k}(x) = C_n^k x^k (1-x)^{n-k}$, $x \in [0, 1]$, $n \in N$, we denote the Bernstein operators by $B_n f = B_n(f, x) = \sum_{k=0}^n P_{n,k}(x) f(\frac{k}{n})$. It is well-known that the operators are positive linear contractions in $C[0, 1]$ and reproduce linear functions. The Bernstein-Durrmeyer operators defined by

$$D_n f = D_n(f, x) = \sum_{k=0}^n P_{n,k}(x)(n+1) \int_0^1 P_{n,k}(t) f(t) dt$$

were introduced by Durrmeyer^[2] and studied by Derriennic^[3], Heilmann^[4] and Ditzian et al.^[5] It was shown that $D_n f$ are positive linear contractions in $L_p[0, 1]$, self-adjoint and commute (i.e., $D_k D_n f = D_n D_k f$). But these operators do not reproduce linear functions. Thus, Chen^[1] modified the Bernstein-Durrmeyer operators as $M_n f = M_n(f, x) = \sum_{k=0}^n P_{n,k}(x) \Phi_{n,k}(f)$, where

$$\Phi_{n,k}(f) = \begin{cases} f(0), & k = 0; \\ (n-1) \int_0^1 P_{n-2,k-1}(t) f(t) dt, & k = 1, 2, \dots, n-1; \\ f(1), & k = n. \end{cases}$$

*Received date: 2000-08-21

Foundation item: Supported by Natural Science Foundation of Zhejiang Province (102002)

Biography: DING Chun-mei (1966-), female, Master.

Obviously, the operators $M_n f$ are linear positive contractions in $C[0, 1]$ and reproduce linear functions. Here we will study the direct and converse results on simultaneous approximation by the modified operators $M_n f$. In the point-wise sense, an equivalence characterization of simultaneous approximation by $M_n f$ will be given.

2. Main results and lemma

Let $\Delta_t f(x) = f(x+t) - f(x-t)$ ($x \pm t \in [0, 1]$) be the usual symmetric difference of f . We denote the modulus of smoothness of f by $\omega(f, h) = \sup_{0 < t \leq h} \|\Delta_t f\|$. The main results of this paper are as follows.

Theorem 1 For $f^{(r)} \in C[0, 1]$, $r \in N$, we have

$$|M_n^{(r)}(f, x) - f^{(r)}(x)| \leq C\{\omega(f^{(r)}, (x(1-x)/n + 1/n^2)^{1/2}) + |f^{(r)}(x)|/n\},$$

here and in the following C denotes a constant independent of n and f , but its value may be different at different occurrence.

Theorem 2 Let $f^{(r)} \in C[0, 1]$, $r \in N$ and $r < \alpha < r + 1$. Then

$$|M_n^{(r)}(f, x) - f^{(r)}(x)| \leq C(x(1-x)/n + 1/n^2)^{(\alpha-r)/2}$$

if and only if $\omega(f^{(r)}, h) = O(h^{\alpha-r})$.

To prove above theorems, we first give a lemma.

Lemma For $f^{(r)} \in C[0, 1]$, $r \in N$, we have

$$M_n^{(r)}(f, x) = \frac{n!(n-1)!}{(n-r)!(n+r-2)!} \sum_{k=0}^{n-r} P_{n-r,k}(x) \int_0^1 f^{(r)}(t) P_{n+r-2,k+r-1}(t) dt.$$

Proof For convenience we suppose that $\Phi_{n,k}(f) = 0$, $P_{n,k}(x) \equiv 0$ for $k < 0$ or $k > 0$. Since

$$\begin{aligned} P'_{n,k}(x) &= n(P_{n-1,k-1}(x) - P_{n-1,k}(x)), \\ P''_{n,k}(x) &= n(n-1)(P_{n-2,k}(x) - 2P_{n-2,k-1}(x) + P_{n-2,k-2}(x)). \end{aligned}$$

We have from the induction that $P_{n,k}^{(r)}(x) = \frac{n!}{(n-r)!} \sum_{j=0}^r C_r^j (-1)^j P_{n-r,k-r+j}(x)$, which implies

$$\begin{aligned} M_n^{(r)}(f, x) &= \frac{n!}{(n-r)!} \sum_{j=0}^r C_r^j (-1)^j \sum_{k=0}^n \Phi_{n,k}(f) P_{n-r,k-r+j}(x) \\ &= \frac{n!}{(n-r)!} \sum_{j=0}^r C_r^j (-1)^j \sum_{k=0}^{n-r+j} \Phi_{n,k+r-j}(f) P_{n-r,k}(x) \\ &= \frac{n!}{(n-r)!} \sum_{k=0}^{n-r} P_{n-r,k}(x) \sum_{j=0}^r (-1)^{r-j} C_r^j \Phi_{n,k+j}(f) \\ &= \frac{n!}{(n-r)!} \sum_{k=0}^{n-r} (-1)^r P_{n-r,k}(x) \delta_{nk}^{(r)}(f), \end{aligned}$$

where $\delta_{nk}^{(r)}(f) = \sum_{j=0}^r C_r^j (-1)^j \Phi_{n,k+j}(f)$. Now, to finish the proof of Lemma 1, we only need to prove for $k = 0, 1, 2, \dots, n$ that

$$\delta_{nk}^{(r)}(f) = (-1)^r \frac{(n-1)!}{(n+r-2)!} \int_0^1 f^{(r)}(t) P_{n+r-2,k+r-1}(t) dt.$$

In fact, for $k = 0$, we have after integrating by part

$$\begin{aligned} \delta_{n0}^{(r)}(f) &= f(0) + \sum_{j=1}^r C_r^j (-1)^j \Phi_{n,j}(f) \\ &= \sum_{j=1}^r C_r^j (-1)^j (n-1) \int_0^1 (f(t) - f(0)) P_{n-2,j-1}(t) dt \\ &= \frac{(n-1)!}{(n+r-2)!} \int_0^1 (f(t) - f(0)) P_{n+r-2,r-1}^{(r)}(t) dt \\ &= (-1)^r + \frac{(n-1)!}{(n+r-2)!} \int_0^1 f^{(r)}(t) P_{n+r-2,r-1}(t) dt. \end{aligned}$$

Similarly, the case for $k = n$ can be proved. For $1 \leq k \leq n-1$, we know

$$\begin{aligned} \delta_{nk}^{(r)} &= (n-1) \int_0^1 \left(\sum_{j=0}^r C_r^j (-1)^j P_{n-2,k+j-1}(t) \right) f(t) dt \\ &= \frac{(n-1)!}{(n+r-2)!} \int_0^1 P_{n+r-2,k+r-1}(t) dt \\ &= (-1)^r \frac{(n-1)!}{(n+r-2)!} \int_0^1 f^{(r)}(t) P_{n+r-2,k+r-1}(t) dt. \end{aligned}$$

The proof of Lemma 1 is complete.

3. Proof of theorems

Proof of Theorem 1 By direct computation, we can derive

$$\begin{aligned} Q(n, x) &= \frac{n!(n-1)!}{(n-r)!(n+r-2)!} \sum_{k=0}^{n-r} P_{n-r,k}(x) n \int_0^1 (t-x)^2 P_{n+r-2,k+r-1}(t) dt \\ &\leq C(x(1-x)/n + 1/n^2). \end{aligned}$$

Thus, from Lemma 1 it follows that

$$\begin{aligned} &|M_n^{(r)}(f, x) - f^{(r)}(x)| \\ &\leq n!(n-1)!(n-r)!(n+r-2)! \sum_{k=0}^{n-r} P_{n-r,k}(x) \int_0^1 |f^{(r)}(t) - f^{(r)}(x)| P_{n+r-2,k+r-1}(t) dt + \\ &\quad |f^{(r)}(x) (1 - \frac{n!(n-1)!}{(n-r)!(n+r-1)!})| \\ &\leq \frac{n!(n-1)!}{(n-r)!(n+r-2)!} \sum_{k=0}^{n-r} P_{n-r,k}(x) \int_0^1 \omega(f^{(r)}, |t-x|) P_{n+r-2,k+r-1}(t) dt + \frac{C}{n} |f^{(r)}(x)| \end{aligned}$$

$$\begin{aligned}
&\leq \omega(f^{(r)}, \delta) \left\{ 1 + \frac{\delta^{-1} n! (n-1)!}{(n-r)! (n+r-2)!} \sum_{k=0}^{n-r} P_{n-r,k}(x) \int_0^1 |t-x| P_{n+r-2,k+r-1}(t) dt \right\} + \\
&\quad \frac{C}{n} |f^{(r)}(x)| \\
&\leq \omega(f^{(r)}, \delta) \{ 1 + C \delta^{-1} (Q(n, x))^{1/2} \} + \frac{C}{n} |f^{(r)}(x)| \\
&\leq \omega(f^{(r)}, \delta) \{ 1 + \delta^{-1} C (x(1-x)/n + 1/n^2)^{1/2} \} + \frac{C}{n} |f^{(r)}(x)|.
\end{aligned}$$

Putting $\delta = (\frac{x(1-x)}{n} + \frac{1}{n^2})^{1/2}$, then Theorem 1 follows.

Proof of Theorem 2 From Theorem 1, it is sufficient to prove the inverse part. Let $h \in (0, \frac{1}{8})$, $0 < t \leq h$, $n \in N$. Set

$$\delta(n, x, t) = \max\{1/n, \varphi(x+t)/\sqrt{n}, \varphi(x)/\sqrt{n}\}, \varphi(x) = (x(1-x))^{1/2}.$$

Then

$$\begin{aligned}
|f^{(r)}(x+t) - f^{(r)}(x)| &\leq |M_n^{(r)}(f, x+1) - f^{(r)}(x+t)| + |M_n^{(r)}(f, x) - f^{(r)}(x)| + \\
&\quad \left| \int_x^{x+t} M_n^{(r+1)}(f, u) du \right| \leq C \delta^{\alpha-r}(n, x, t) + I
\end{aligned}$$

with $I = \left| \int_x^{x+t} M_n^{(r+1)}(f, u) du \right|$. Let $f_h(x) = \frac{1}{h} \int_{-h/2}^{h/2} f^*(x+u) du$, $h > 0$, where

$$f^*(x) = \begin{cases} f^{(r)}(x), & 0 \leq x \leq 1; \\ f^{(r)}(0), & x < 0; \\ f^{(r)}(1), & x > 1. \end{cases}$$

Then by a simple computation, we see

$$\|f^{(r)} - f_h\| \leq \omega(f^{(r)}, h/2), \|f'_h\| \leq \omega(f^{(r)}, h)/h. \quad (2.1)$$

Now, we estimate I . Writing

$$M_{n,r}(g, x) = \frac{n!(n-1)!}{(n-r)!(n+r-2)!} \sum_{k=0}^{n-r} P_{n-r,k}(x) \int_0^1 g(t) P_{n+r-2,k+r-1}(t) dt, \quad (2.2)$$

we can obtain

$$\|M_{n,r}g\| \leq C\|g\|, \|M'_{n,r}g\| \leq Cn\|g\|, \quad g \in C[0, 1], \quad (2.3)$$

$$\|M'_{n,r}g\| \leq C\|g'\|, \quad g' \in C[0, 1]. \quad (2.4)$$

Since

$$I \leq \int_x^{x+t} |M'_{n,r}(f^{(r)} - f_h, u)| du + \int_x^{x+t} |M'_{n,r}(f_h)| du = I_1 + I_2,$$

from (2.2) and (2.4) it follows that

$$I_2 \leq t\omega(f^{(r)}, h)/h. \quad (2.5)$$

Moreover, we can prove

$$I_1 \leq Ct(\min\{n, (n/\varphi^2(x+t))^{1/2}, (n/\varphi^2(x))^{1/2}\})\omega(f^{(r)}, h). \quad (2.6)$$

In fact, by (2.2) and (2.3), it is not difficult to deduce

$$I_1 \leq Cnt\|f^{(r)} - f_h\| \leq Cnt\omega(f^{(r)}, h). \quad (2.7)$$

On the other hand, for $0 \leq \varphi^2(u) \leq 1/n$, we have

$$J = |\varphi(u)M'_{n,r}(f^{(r)} - f_h, u)| \leq C\varphi(u)n\|f^{(r)} - f_h\| \leq C\sqrt{n}\omega(f^{(r)}, h).$$

For $\varphi^2(u) > 1/n$, noting that $P'_{n,k}(x) = \frac{n}{\varphi^2(x)}(\frac{k}{n} - x)P_{n,k}(x)$, we know

$$\begin{aligned} J &\leq (n-r)\varphi^{-1}(u) \frac{n!(n-1)!}{(n-r)!(n+r-2)!} \sum_{k=0}^{n-r} \left| \frac{k}{n-r} - u \right| \times \\ &\quad P_{n-r,k}(u) \int_0^1 P_{n+r-2,k+r-1}(t) |f^{(r)}(t) - f_h(t)| dt \\ &\leq C(n-r)\|f^{(r)} - f_h\| \varphi^{-1}(u) \sum_{k=0}^{n-r} \left| \frac{k}{n-r} - u \right| P_{n-r,k}(u) \\ &\leq C(n-r)\|f^{(r)} - f_h\| \varphi^{-1}(u) (B_{n-r}((t-u)^2, u))^{1/2} \leq Cn^{1/2}\omega(f^{(r)}, h). \end{aligned}$$

Hence, using (see [6]) $\int_x^{x+t} \varphi^{-1}(u) du \leq 4t \max(\varphi^{-1}(x), \varphi^{-1}(x+t))$, we have

$$I_1 \leq Ctn^{1/2}\omega(f^{(r)}, h) \max(\varphi^{-1}(x), \varphi^{-1}(x+t)). \quad (2.8)$$

Combining (2.7) and (2.8), we obtain (2.6). So, putting $\delta(n, x, t) = h$, it follows from (2.5) and (2.6) that

$$|\Delta_t f^{(r)}(x)| \leq C(\delta^{\alpha-r}(n, x, t) + t\delta^{-1}(n, x, t)\omega(f^{(r)}, h)).$$

Note that for $n \geq 2$, there holds

$$\delta(n, x, t) < \delta(n-1, x, y) \leq 2\delta(n, x, t).$$

Thus for any $\delta \in (0, 1/8)$, we can choose an n such that

$$\delta(n, x, t) \leq \delta < \delta(n-1, x, t) \leq 2\delta(n, x, t).$$

Therefore,

$$|\Delta_t f^{(r)}(x)| \leq C(\delta^{\alpha-r} + \frac{h}{\delta}\omega(f^{(r)}, \delta)).$$

Hence,

$$\omega(f^{(r)}, h) \leq C(\delta^{\alpha-r} + \frac{h}{\delta}\omega(f^{(r)}, \delta)),$$

which implies from the Berens-Lorentz lemma (see [7]) that

$$\omega(f^{(r)}, h) = O(h^{\alpha-r}).$$

The proof of Theorem 2 is complete.

References:

- [1] CHEN W Z. *Approximation by modified Durrmeyer-Bernstein operators* [J]. J. Math. Res. Exposition, 1989, 9: 39-40. (in Chinese)
- [2] DURRMEYER J L. *Une formule d'inversion de la transformée de Laplace: Applications à la théorie des moments* [D]. Thèse de 3e cycle, Faculté des Sciences de l'Université de Paris, 1967.
- [3] DERRIENNIC M M. *Sur l'approximation de fonctions intégrable sur $[0,1]$ par des polynômes de Bernstein modifiés* [J]. J. Approx. Theory, 1981, 31: 325-343.
- [4] HEILMANN M. *L_p -saturation of some modified Bernstein operators* [J]. J. Approx. Theory, 1988, 54: 260-281.
- [5] DITZIAN Z, IVANOV K. *Bernstein-type operators and their derivatives* [J]. J. Approx. Theory, 1989, 56: 72-90.
- [6] DITZIAN Z. *Derivatives of Bernstein polynomials and smoothness* [J]. Proc. Amer. Math. Soc., 1985, 93: 25-31.
- [7] BERENS H, LORENTZ G G. *Inverse theorems for Bernstein polynomials* [J]. Indiana Univ. Math. J., 1972, 21: 693-708.

修正的 Bernstein-Durrmeyer 算子的同时逼近

丁 春 梅¹, 熊 静 宜²

(1. 绍兴文理学院数学系, 浙江 绍兴 312000; 2. 中国计量学院信息与数学科学系, 浙江 杭州 310034)

摘 要: 本文的目的是证明修正的 Bernstein-Durrmeyer 算子同时逼近的正逆定理, 在点态意义下, 我们得到了一个同时逼近的等价特征刻画.

关键词: 修正的 Bernstein-Durrmeyer 算子; 同时逼近; 正定理; 逆定理.